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TR B = 106, 649, 409
HEELT = 55, 939, 485
BEARRE AT = 431, 172 | BRIR (BEER) S 70 m3
2. bmAT ;
T wb AT 70 m3
W CESE- ERIR Y £5T)
FHIA Ob-27) 70 m3
+ab 850, 000m3ATH ;
AR AT (ICT) = 35, 389, 740 | BR A (E52) AK 1 (ICT) 22, 500 m3
A 6, 540 m3
W CESE- ERIR Y £5T)
A 18, 060 m3
b CESE- ERIR Y £5T)
FHIA Ob-27) 24, 600 m3
+ab 850, 000m3ATH ;
R+ T (ICT) = 15,736, 244 | #&ERRES £ (ICT) 3,900 m3
PR+ (ICT) 1,300 m3
(A2 REIAD)
PR+ (ICT) 730 m3
(15 BRI EA D)
A 4, 380 m3
+w CESE- ERIR Y £5T)
A (-2") 4, 400 m3
+a +850, 000m3ATH ;
A4} 2,000 m3
B (EO 1)
EEEEIE T (ICT) = 1,429,939 |{EmEEETE (@& L) (ICT) 2,590 m2
ELiHkEE O L ;
B Ech 3R L X 2,952,390 |BHELY—| 1,654 m2
t=2. OmmPA I ;
HiAE R L T = 3, 332, 000
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+THE%BET = 3,332,000 | LHEWE 2,000 m3
BHEEA K 30kg/m3 ;
-7 my)FE (3R T = 11, 924, 801
e+ T 2 857,368 |FRIEY 1 X
+4)
i 1 X
+4)
HEL 1 2V
+4)
FLE e 1 =
VR VARPY RN EVZA R VAR DY E <) = 11, 067, 433 | BIs 4T HepEav ) -} 138 m
(15, A2F%, A2A5)
18-8-40 (B JF) JEEHE 52cm B S 30cm ;
BT HeAfavy)-h 17 m
()
18-8-40 (B J7) JEEHE 55cm B S 35¢m ;
BFT/ A akay ) -} 1 m3
(15)
18-8-40 (B JF) ;
/) =h (R%0) 77 ny ) il 262 m2
(15, A2F2, A2A5)
/) =h (R%0) 7" ny ) il 49 m2
()
A - BEAKS (W) 98 m3
FARAG RC-40 ;
Bl HT Ruiav - 6 m3
(15)
18-8-25 (B ) ;
Bl HT Ruiav - 2 m3
A2/, A245)
18-8-25 (B ) ;
Bl HT Ruiav - 1 m3
(5 I2)
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18-8-25 (B ) ;
HEKHEEY T = 1 22,138,128
EELT = 1 841,839 |FRHEY 1 X

+4)

i 1 X
+4)

HEL 1 2V
+4)

HEL 1 2V
+4)

HEL 1 2V
+4)

FLE e 1 =

T = 1 8,516,843 |7 Vr¢ANUTHINE 45 m

300X 300 ;

7" Vv A NUBRMAITE: 54 m
(P
300X 300 ;

= E K 71 m
800X 1300 ;

H H A B 101 m
(3%)
400 X 400~900 ;

NS 108 e
3FE 300 GEEMNE) 2v7)-135 (L=500) ;

NS 79 e
400 (@A) B BB 2v7)-b2 (L=500)

NS 21 e
400 (KA B HABMRITE 2v7)-b2 (L=500)
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TEHEX Sy - THE - R B {7 % & A bl A iR
FIRT X 330,560 |#kfhav)-bEFHE 8 m
D600 ;
LIk vv b T = 1,389, 700 | HIGHT HAE KM 2 & AT
BUGFT#F 18-8-25 (f&i4F) 600600800 ;
BGHT K 1 (£
BUGFT#S 18-8-40 (Fi%7) 700X 700X 1200 ;
BGHT K 1 (£
BUGFT#S 18-8-40 (FEi47) 1000 X 1000 X 1500 ;
BT B K 1 (£
BIGFTA 24-12-25(20) (B %) 1000 X 1000 X 23
00 ;
ANEr ) 1 &30
BUGFT#S 18-8-40 (f5i47) 500X 500X 800 ;
7NBEREG 1 &30
BUGFT#S 18-8-40 (f5i47) 500X 500X 800 ;
= 2 ie
7 Vv=F/1" 3 600X 6008 T-14 K VHMEE ;
= 1 ie
I Vv=Fv0" 3 T00X TOORE/XHH T-14 K VHMEE ;
= 2 ie
SIS 500 X 5004 (HDZT77) & WhE & ;
= 2 ie
FASHMES 1000 X 100047 (HDZT77) & b M &
HEK T =X 11,059, 186 | /]NBedlak 251 m
300X 300 ;
HEPEAK 2 m
A
300X 300 (Vry M) 5
HEPEAK 3 m
B
300X 200 ;
= 3 ie
A
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SESEREE 400 X 600 (HDZT77) & VMEE ;

B

FEHREE 600X 600 (HDZT77) K WhE E ;
CEUEVZAR

CINBEHEA)

t=5cm 18-8-25 (20) (&)
CEUEVZAR

(FEBEZK)

t=5cm 18-8-25 (20) (&)
CEUEVZAR

t=10cm 18-8-25 (20) (@& /F)
IKEHEK =

BRIEA S-20 ;
FAEHEK

BRIEA S-20 ;
ST

An=7" 2, 5 X50em X 1F120cm EIZEA 150-200 ;

HEARM %

ZAKE HE400mm X JE30mm ;
W H U RS IR 3% 1

300 X 300 X 20 ;
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PR IGR T 2V

6, 821, 384

BB RGER E T X

6, 821, 384

BEERER &

(A2)

24-12-25(20) (7 ¥%F) SD345 D29~D13 ;
BEERER &

()

24-12-25(20) (&m¥%F) SD345 D29~D13 ;

34

43

m3

m3

BT T

3,397, 255

B 1A T X

3,397, 255

SEHET wy), S AL
S LA S SLEE ¢ 101. 6 X3, 2X600mm ;

139
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TEHX4y « Tfd - FER & F iR
&8 - 3AE (ST NBE 1R 277 m
2mPL T 2m ;
SN AL T =Y 959, 200
S BLERESE T Y 959, 200 |JLAfEE 1 =
HEYE T Y 23, 856
s EEE L T Y 16,162 |2v7)-MEBEMHUE L 2 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 7,694 | BOEE 2 m3
/) -k (BERR)
RISy 2 m3
20—k (SRR
A Y 2,113, 300
VE#IE 1k T Y 1,983, 160 | /K LB R f 1 =
FYEALPR R 10m3 /Wi ;
A ERE E T = 130, 140 | AR5 EE i 5 1 =
[ERAE Xy = 106, 649, 409
HiE = 13,001, 923
BISTI S = 2,347,923
HeffrE sy 2 1,313,923 |{R5FEHL(ICT) 1 =
YATLIE 2 (ICT) 1 F2V
B R AT -MERE 1 =
BGRESCGES (5 1) = 1, 034, 000
B (FEHL) = 10, 654, 000

TAZIEE LN )R




FH

LAy

%
T

TH4 | EE208% JIFAMKXKE (£202) T3
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R e 2V 119, 651, 332
e R 2V 37, 032, 000
T AT X 156, 683, 332
— e PR 2V 25, 326, 668
N 2V 182, 010, 000
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